

North Texas

BOARD OF DIRECTORS

President Kathy Duke

Century Insurance Agency, Inc.

President Elect
Jon Madsen

Treasurer Charles Stafford Keller-Williams Realty

DATCU Credit Union

Secretary Carol Kyer Community Volunteer

Past President
Andy Eads
Denton County Commissioner

First Vice President Dr. Marcia De Avila Community Member

Second Vice President Deepa Pulianda Mad Science

At-Large Laura Bakken Community Member

Shelly Dodge Visionary Financial Group

Amber Fulton
Amber Fulton and Associates

Matthew Gutierrez Little Elm ISD, Dept. Superintendent

Dr. Marci Malcom Lake Dallas ISD, Asst. Superintendent

Frankie May Wells Fargo

Malcolm McGuire City of Denton, Police Officer

Vanessa Minoff Point Bank, Asst. Regional Mgr.

Lillian Rauch
NISD Board of Trustees

Naseem Razvi Lewisville ISD PTA

Trish Robinson State Representative Tan Parker

Kris Vaughn Strategic Solution, Consultant

Dr. Jamie Wilson Denton ISD Superintendent

Lynn Young Business Owner/ Volunteer

Chief Executive Officer Dana Smith December 14, 2015

Dear Friends at the Lewisville Noon Rotary Club,

I want to thank you for your support of Communities In Schools of North Texas at Lewisville High School and your donation through the Shelter Bag Project. This large donation has helped me meet a gap for my homeless/ unaccompanied student in crisis moments. Often in these crisis moments students leave home with the clothes on their back, their school backpack, and nothing else. This is where we often try to come in and meet these basic needs, along with shelter.

Some of the most important services we provide are the basic needs of survival. For example, a warm jacket to help a student walk home from a late night job, options of clean clothes to wear to school instead of the one pair of pants and one shirt they have worn all week, and shoes required to maintain a job. This large donation has now helped us meet immediate needs for over 60 homeless/unaccompanied students.

I am very thankful for this partnership with Lewisville Noon Rotary Club and cannot imagine providing case management services on LHS campus without your support. As we know the scenario of being homeless or unaccompanied does not just come and go for our students, and no one is immune to being homeless.

As Communities In Schools at Lewisville High School continues to identify and address these barriers, we will also seek out to continue to meet the needs of our students. Our end goal is for our students to be successful, graduate from high school, and leave school on the path towards living a healthy and successful life. We can now continue this long term services because of your generous donation. THANK YOU!

Yours sincerely,

Maegan Ruiz, LMSW CIS Site Coordinator

Lewisville High School

Dana Smith

Chief Executive Officer

Communities In Schools of North Texas

Communities In Schools of North Texas
P.O. Box 295543 Lewisville, TX 75029-5543
Phone: 972-538-9930
info@cisnt.org
www.CISNT.org





Ann Pape

From:

Sent:

Ruiz, Maegan <ruizmaegan@lisd.net> Wednesday, December 16, 2015 11:12 AM

To: Subject: Ann Pape; Tasha Moore Re: thank you letter

Items:

3 bike helmets

3 bike pumps

3 bike locks

2 sleeping pads

3 sleeping bags

1 tent

2 comforters

2 sheets

12 jackets

1 pair of boots

4 socks

2 work shirts

20 rain jackets

50 emergency kits

20 emergency whistles

4 stets of (3) towels

50 backpacks

60 blankets

75 wet ones

150 protein bars

100 brushes

100 combs

75 flashlights

75 deodorants

75 shampoos

75 conditioners

Maegan Ruiz, LMSW Site Coordinator- Lewisville High School Main

Communities In Schools of North Texas

Office: 469.948.3224 ruizmaegan@lisd.net

www.cisnt.org www.facebook.com/cisnorthtexas

The Mission of Communities In Schools of North Texas is to surround students with a community of support, empowering them to stay in school and achieve in life.

Items for the bags:	he bags:	Price	Quantity Total	Total		
	Shampoo/Conditioner (2 in 1 bottle)	\$2.88	55	\$158.40		
	Liquid Soap	\$1.98	55	\$108.90		
	Toothbrush	\$1.50	55	\$82.50		
	Toothpaste	\$1.50	55	\$82.50		
	Floss	\$2.47	55	\$135.85		
	Deodorant	\$2.00	55	\$110.00		
	Wash cloth and Towel/ Baby Wipes	\$2.21	55	\$121.76		
	Hair brush and Comb	\$2.00	55	\$110.00		
	Flashlight	\$2.50	55	\$137.50		
	Personal crisis alarm	\$8.00	55	\$440.00		
	Thermal fleece blanket	\$7.00	55	\$385.00		
	Small basic First aid kit	\$4.50	55	\$247.50		
	Non-perishable snacks	\$1.00	550	\$550.00		
	Refillable Water Bottle	\$5.00	55	\$275.00		
	Rain poncho	\$1.00	55	\$55.00		